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from random import randint

for i in range (10)
nl = randint (1, 10)
n2 = randint (1, 10)
product = nl1 * n2

ans = input('What is {} times {}?7 '.format(ml, n2))

if ans = product:
print ('Correct. Well done!')
correct = correct + 1
else:
print('No. The correct answer is {}.'.format(product))
print('You got {} out of 10 questions right.'.format(correct))

print 'Well done!'
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def polynomial(coeffs):
resnlt = *°
degree = len(coeffs)

for i in range(degree):
result += '{0}x"{1}'.format(coeffs[i], i)

result += '+'

return result
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def join(L, separator)
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>>> join(['salam', 'test', 'book', '1234', 'exam'], 'A+A')
'salamA+AtestA+AbookA+A1234A+Aexam’
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>>> split('this+is+a++test++here++', '+')
{'this', ‘is', ‘'a', '', 'test', '', 'here', '', II]
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>>> delete('this is a test!', 's ')
"thiia test!"’
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>33 partition(ld, 5. 3. 9, 7, 11, 4)
Cia, 11, [41, [5, 9; 7l1)
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>>> import random

>3 a = [1;. 2,; 3, 4]
>>> random.shuffle(a)
>>> print(a)

f2, A, 3. 4]
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a = 2
b =3
Ch—h

print(a * b + 7 /% (16 **x 2 *x*%x - 1) *x% 2)

def

def

130 7.0(z 3.0(c 1.0 (<

390 £(8) == True &S LS s s ad) Sl (uMae o) c_:ub_gld_l:d.a—ﬁlg—\r

cnt rptla, b):
""" a and b should be string
ret = 0
for i in range(len(a)):
if al[i:][: len(b)] == b:
ret += 1
return ret

(=)
if len(s) >7:
return False
return cnt_rpt(s, 'test') >1

mmnmn

Testtes (> teatest(G testtest(—  test (<2l

Canl U glyls o) elile 5l Kalas™ -
"15" ** 2(< str(2.2) (.l
list("Hello!") (& 2.2/2(€
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count = 0

def

f (n):
global count
1st = []
d = 2
while d*d <= n:
while (n 7 d) ==
1st.append(d)
n = int(n / d4d)
count += 1
d += 1
if n > 1:
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1st.append(n)
return 1lst
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def fib(m):
if n € 2:
return 1
else:
result = fib(n - 1) + fib(n - 2)
print (result)
return result
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()
not A and (B or C or mnot D)

(<
not A and B or C or not D

&
A and B or not C or not D

(>

not A and ( B or not C or mnot D)
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letl = [0, 1.2.3.4.5.6,7.8:9]
for i in range(4):

del (1st1[i])
print (1st1)
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counter = 0
def fun(value, string)
while (counter = wvalue):

print (string)
counter += 1
if counter = 10:
break
print("Counts: " + counter)
string[value] ='a'
return value, string

input (n)

string = "This is a test'
b = fun(n, string)

s , n=25>
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import turtle
sc = turtle.Screen();
t = turtle.Turtle()
size = 100
for i in range(10):
t.forward(size)
t.right (120)
size = size / 2
(&

fruits = ["Pear", "Kiwi", "Apple", "peach"]
lst = fruits

1st [1] = "Orange"

print (fruits)

1st = fruits[1:]

1st.append("Pineapple")

print (fruits)
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def polynomial (coeffs):
result = '
degree = len(coeffs)
for i in range(degree):
result += "{0}x"{1}".format(coeffs[i], i) #for python 3
#result += "Jdx"J)d" % (coeffs[i], i) #for python 2

result += "+"
return result
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def b(i = 1, j, k = 3): s o 2hs &5 0sS C8s aS g ) pj gaeln slalks

print i + jJ + k
for i in range(1l0): ..Lnab.:id 0 yoi T R W) )] 38 Cpad g il LSA'I",J'F Uas de
if i in range(5):
praint *i 1is:™ + 31

else: Vo)l amles p o (e (50 pod oLl Clgz pisren il
j = 2

b(3j) (6 o

elsif 1 == 6: ro

continue
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import math
number = 121
if number%2==1:
1f math.sgrt (number) <=8:
print ("casel")
elif math.sgrt (number)<=12:
print ("case2")
elif math.sgrt (number)<=16:
print ("case3")
else:
pass
if number%3==1:
if math.sgrt (number**2)<=12:
print ("case4d")
elif math.sqgrt (number**2)<=18:
print ("case5")
elif math.sqgrt (number**2) <=24:
print ("caseé6")
else:
print ("case7")
(&
phrase = "I love programming languages, specifically Python!! :D"

varl = phrase.split ()

print (len(varl))

for var2 in varl:
print (len(var2))

s s dalizesls 10 LelS O ja0 s 1) 05 00l prmaal ded g Aln | 55 A5 dabal 0 gz g SYIKSI(e 05 1) (Y

def as(x; v)

globals =z
W=D
Z =X + VY + W

TELUIT]l X *% Yy

z = niQ"
¥ = noge
a, z = as(2, 4)

if a =< 6

Z =+ sqgrt(a)
else 1f a ==

z = integer(y)
else
ol — — |
print (w, x, vy, z)
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U digei (99,9
a=[4,1,7,4,1,7,5] b =[(1, [5]), (2, [1, 4, 7])]

2=16,2,6,8,892,638, 7,2,2] b=1[(1,[7,9]), (3, [6, 8]), (4, [2])]
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ad =
b =
C =

aa3o V. 1 nbe
3 el ',j—lu"-.-&-l s tila

o =

Do (380 Sygo a ]y pidelin 9,5 (00 V) ()
2

3
9

print(a + b / 3)
print("{1} {0} {2:.2f}".format(c / a, b / a, ¢ / b))

for

1 In (B €)F
1f 1 % 2 == 0O
i+4=1

print(i)
else:

print(a, b, c)

def

£(4)

Do (380 Sygo i ly pjdelip (9,5 (0,05 Vo) (V

£in):
if n == 1:
nr = [1]
else:
nr = []
1r = f(n-1)
if n %2 == O
nr.append(1lr[len(1lr)-1])
else:

nr.append(n)

for i in range(len(lr)):
nr.append(nr[i] + 1r[i])

for item in nr:
print(item, end = " ")

print()

return nr
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def from(a):
d = range(list(1; a; 2))
while 1 in d
iF A ¢35
print(a + i)
else
print(b + i)

return = a + 1
=5

from(b) = c
print(b, c)

aibe 1y oyl olows o9y 9o olacl dan g WS o 28l o o5 51T olael 5l allss G aS o g (glasliys (0,08 Vo) (F
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1371021431 count=2
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281007 count=0
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Jbe aiile i 5w |y o yain olael gam g baylaws olael e a0l ael p cosl o ile 31 o SO oaian lis o]

55 ol
Gsed Yl Liged (579,
[[1, 3], [10, 5]] 415
118
[[1, 2, 3], [4, 5, 6], [70, 20, 10]] 6 15 100
a2t 19
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